MR12 Final Review 2
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1. How many different three-member teams can be
formed from six students? -
1. 20 © C 3
2. 120
3. 216
4, 720

2. Which expression is ssion 15 1ot equivalent to 8C 57

1 y
@ £
C; = SG

8xTx6 -
t o 3x2x] Se

3. How many different arrangements of seven letters can
be made using the letters in the name “ULYSSES”?

4. How many different six-letter permutations can be
formed from the letters of the word “HUBBUB™?
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7. ILfx) = x° — 2x2, then f(i) is equivalent to

8. What are the roots of the equation
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12. What is the solution set of the inequality [2x— 1| <9?
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